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QUESTION 1
You are working with IMS publish-subscribe operations.

What happens when a producer publishes a message to a topic for which a durable subscription exists but there are no
subscribers available?

A. The publisher waits for a subscriber, who then consumes it. However, the publisher will time out if no consumer
arrives within the given timeout period.

B. The publisher sends the message. However, it is never consumed because there wasn\\'t anything listening when it
arrived, regardless of the message timeout length.

C. The publisher successfully sends a message, which will be consumed later, once there is a subscriber, assuming the
message hasn\\'t timed out.

D. The message publisher is immediately notified about the lack of subscribers and can decide for itself if, and when, to
resend.

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/tjn0012_.html

QUESTION 2

What are the four steps for the move request process flow?
A. Create shipment

B. Create Movement Request

C. Confirm pick slips

D. Run the Movement Request Pick Slip Report

E. Physically move the material

F. Run pick slip allocation

Correct Answer. BCDE

QUESTION 3
Given the JPQL code fragment:
Select pub.title, pub.author, pub.pages FROM Publisher pub

Which two clauses do you add to this JPQL query to retrieve only those books with between 500 and 750 total pages?
(Choose two.)
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A. WHERE MIN(pages) >= 500 AND MAX(pages)
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